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Chapter Review exercises for 4.2-4.3 25-31 odd ,37-43 odd,47-55 odd

U51 In Exercises 25-28, find the point (x,y) on the unit
circle that corresponds to the real number t.

as) t:= 2 27) t= ST
P 2
point: (%, &) pont: (-3, %)
In Exercises 29-32, evaluate (if possible) the six trigonometric sint=Yy eget= "é
functions of the real number. — Cost=xX sect :.,L<
aq) t= 21 pornt ! ('a,'a) tant=4 copi=X
2 X ]
sinle) =Y =|~3 ese(e) = -2
coste) = x = [ 3 see)="H 5 - [25
tante) =3 = & ot &) = |03
-3
= -4 (=2 A !B 1’3
s ('ﬁ) ERE |;
3)) = -2 point: (-3 -3F)
3
: =u =|- = -2 = [-2J3
sinle) =y =|-3 ese(e)= ~Z 5 =203
Cosle) = X =| 3% sec(t)= |-2
-4 - _ = L. x_|I=3
tan(t)-% _’Ja.z. ot (&) ‘_3%_ _3;
X

= 'E.JB'("%) =[s3
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In Exercises 37-40, use a calculator to evaluate the trigono-
metric function. Round your answer to four decimal places.

37) tan33 =|-75.3130

34) Sec 12T = L

¥ radian mode ! S tos E’—g
(no ° symbol ) = 3,23¢1
L] In Exercises 41 and <43 find the exact values of the six
trigonometric functions of the angle @ shown in the figure.
41 Aleh =e
. 01! H4*45%*= ¢
4 I 425 =e*
H)l= e*
£ c= Jai
2 .- 4y _[qVqg _ | V4]
h SIN@= mfcf, epes ¢esce = |
7=
2 osg= 2 M - (28 sece=|"Z
o 6= |2 Cot 6= =
3 Tan r ot 8 7
43, a?1r49*=¢?
8 % A2 +1L = Gy
* 2
a“= ¢
T q= V4g = V)3 = 4V3
: V3 _ S
£ sine= %P =| & ¢sce - F L =320
2 oso- %= % seces=| 2
= J3 - ‘,— = L B:
§ Tane= ‘w3 - |3 cot o= 555
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In Exercises 45-48 use the given function value and

trigonometric identities (including the cofunction |dentmes)
+
to find the indicated trigonometric functions. pythagorean Tdentity
sm?—@ +Los20= |

47.csc0=4  (a)sinf  (b) cosd 'i)" +Cos?6 =]
2 -
(c) secf  (d) tan 6 o Feos*e= |

Cos?e= 12
Q) Siné~= &9 —,_‘I- ,b) tos O = @—;5: Cos® = ‘r—
=
eyseco= = u JE|dymne=gine- ¥ = .
ZE (os6 % i

IS Nis ys = .,151_'
In Exercises49 - 54, use a calculator to evaluate the trigono-
metric function. Round your answer to four decimal places.
* Degree mocle !
Ha) tan 33° =[,(49Y S1) Sin 34.2° =|, 502/
53) Cot 15°14' = 1 = [3,¢ 722

#4n 15° M’

55. RAILROAD GRADE A train travels 3.5 kilometers on a
straight track with a grade of 1° 10 (see figure on the next
page). What is the vertical rise of the train in that distance?

3.5km

25(4;n1° 18') =X
X= ,0713 Km

saving journal files Page 4



saving journal files Page 5

The Unit Circle
V2 V32
21 2
i, 1)
(1, 0) >
X
2, -%)
] _\r_;)_)
L
2
¥ Aliernative method .
op ) = / , . - aﬁ-.‘,b‘l:-c_ﬂ
47. csc =4 (a) sinf  (b) cos o e e ot
M""—T" (c) sec  (d) tan 6 : b*=)5
opF o b = Jis
Q9 Y 15
h a) sine=|3 | % b) 6059=t.%,‘-
h = = L J5 < |Vis
g ¢Yseceo= 4 J: =|4)is| 2d)m@ne Ao s IS
s Vis IS a Vs o7z S




